FI ull {!arks * 50

. - TCSI/CAT/2015
Chemistry Aptitude Test — 2015

Stage — I (For Class—IX)

Time_ > 1-30 hours.

Answer all the questions. There are 30 MCQ (1-30) in Group A, each of 1
mark. Each MCQ has been provided with four options. Shade the correct
option with ball point pen in the appropriate box in the Answer-script. Multiple
shading is liable to cancel the relevant answer. 0.25 mark will be deducted
for wrong answer to each MCQ. Group B contains 10 questions (31-40)
each of 2 marks — answer these questions in the space provided for in

the Answer-script.

1.

e TRl e L s r— T St e == e e e e e

Choose the correct options 1x30=30

When electrons revolve in stationary orbits.

(T4 RETIG Zg FoICe e we -)

(a) Endfgy level does not change (*if&®a #fFaéa a5tz 1)
(b) They gain kinetic energy (@131 s1o=f& aire 37)

(c) They become stationary (@3t 5137 33)

(d) Energy decreases. (& I ™) |

Which one of the following elements has highest reducing

character ? (V753 (3R (e Reae wwet 5i4ifes )

(a) Li (b) K (c) Na (d) Cs
Which of the following series contains three metalloids ?
(Fewa eftefem Sug @ibe R aowm 383+ ¢)

(a) Si, Ge, Te | (b) Si, P, Sb

(c) As,Bi,Br (d) Co, Fe, Xe.

A metal of valency 1 will have the atomic number —
(4% QTSI 547 G 4G ARARRS HY! T -)
(a) 8 b 19 (o) 15 (d) 13.
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10.

11.

At .constant_ temperature what will be the density of gas if pressure

‘increases. (18 Saeoi siteR I VHR 79y -)

(a) Increases (IME) (b) decreases (%)
(c) remains same (€32 A=) (d) none of the above.(TR{GE 73) |

Which of the following pairs of ions are responsible for hardness

- of water ? (RuferiRe @ wiTw (@0t Tea w7oR &= wift 2)

(a) K*& HCO_;
(c) Na"& SO,

(b) Ca’? & HCO,-
(d) Ca® & OH-.

Which of the following pairs not produce hydrogen ?

(IR (IR (@reft H, 511 $estiva 302 a1 2)

(@) Fe+H,SO,
(c) Na+ CHOH

Which one is amphoteric oxide ? ({5 To4S SH1zw ?)
(@) Na,0 (b) CaO
(©) ALO, (d) MgO.

(b) Cu+ dil.HCI
(d) Fe + Steam.

Which one of the following produces H, on reaction with steam?

(Fsferis (PG st sfe Rferam H, @@Iﬂm ?)
(a) Na (b) K (¢) Cu (d) Fe.

The isotopic-atoms differ from ? (RN “q ‘?jﬁﬁﬁq =)

(@) number of protons (Talfbw 4N M)
(b) atomic number (ARNART 7Rt Fw)
(¢) number of neutrons (R®G 7y few)

(d) atomic weight. (efz=R% 7 Fw@) |

Water drops are spherical because of

(BITETR FIDT (NP T, A -
(a) viscosity (reret)
(c) polarity (#iTet)

(b) density (¥7%)
~ (d) surface tension. (55 B)|

‘Pa'ge 20f7

- 34

35.

36.

38.

40.

H,S 1s a reducing agent — ex.plain with an example. 2
(H,S @3 Remass smof - 436 Surmaet a1 1<t =521 1)
Write two limitations of Rutherford’s atomic model. 2

(I (RITCT AFARRT A5 76 Sosiefol @74) |

What is 1sotope ? Why is atomic weight of chlorine fractional ? _

CrEfRe I I | @RET AR e oA @ ) [ +1=2

The tormula of oyide and chloride of an element ‘A’ are A, O and
ACL, respectively. To which group of the periodic table does it belong‘?
Is the element a metal or a non-metal ? 1+1=2

(<G CGTIT A <12 3R < (TR 1K T A O, @& ACL 2051
G 313 AT (1 AT TR B 2 Gl 41y F S4D ?)

How would you prepare oxygen at room temperature ? Write the
equation involved. 1+1=2

(YRR SN RIS RS 2T F91 2 7D ﬁmml)_

What is water of crystallisation ? Name with formula of a crystalline
1+5+Ys=2

(CFET-5re I I 2 G0 (FENADIT (051 FALES A2 W19 (14 A1E N0
(P (-1 (3 |)

compound having no water of crystallisation.

Complete and balance the following equations : 1+1=2

(N3 AT ool Bem it 37 o)

(a) Calcium chloride + Silver nitrate —>

(b) Lead nitrate —2—>

000
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18.

19.

20.

21.

22,

Which of the following elements behaves chemically both as a

metal & a non-metal ?

(M7 @9 (= IvmRFeIR 419 8 SYe TSEa FiF W5 FF 2)

(a) Boron (73139)
(c) Argon (In9f%)

(b) Carbon (I14)
(d) Mercury. (IIF141) |

Name the scientist who discovered electron.
(T R iein wiRgm s o)

(a) Dalton (b) Rutherford
(c) Thomson (d) Chadwick.

The method that cannot be used for removing parmanent hardness

of water is — (I 2feTl Ttz PN 47! R IIT© W AT ?)

(a) Adding sodium carbonate (CHT%&W W @S E)
(b) Distillation (#ifew)

(¢) Adding caustic soda (F¥F @rer @19 F3)
(d) Boiling. (o) |

The high reactivity of fluorine is due to —
(FRR SferTer IR =1 -)

(a) its high electronegativity (91F ©fee weeEet)
(b) small size of F-atom (2% i)

(c) availability of d-orbitals (d-FFFq S#R)
(d) strong F-F bond. (*if&iet F—F I5+) |

Valence shell configuration of alkali metals is —
I A FIQRE ICFA e Ryt == -)

(b) ns!
(d) nsnp'.

(a) ns?

(¢) ns’np®
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23,

24,

2.

26.

27.

MnQ, 1s used as a catalyst in the preparation of oxygen gas for
Wthh property ?

(MnO,~49 (4 4013 &= Sf3e WWWWW@ 9)
(@) MnO, has variable valancy. (MnO, 47 #fsada#1e AreTs!)
(b) MnO, is not decomposed on heating (MnO, witst eifers zz)
(c) MnO, is solid (MnO, Ff5)

(d) All of these. (aoH2) |

Electron affinity is maximum in which electronic configuration ?
(TR Z2E Ko 2R e e )

(a) 1s22s22p° (b) 1s22s22p®

(¢c) 1s525s%2p®3s23p° (d) 1s?2s%2p®3s!.

Value ot Universal gas constant R depends on —
(RGN 5757 &3 R a3 I W$a 907 -)

(a) Temp. of gas (ST Taewt)

(b) Volume of gas (TR SRrew)

(c) No.of moles of gas (M Qe AN )

(d) Unit of volume & pressure. (ST @ 517917 4T |

The product formed when Na & K-metals are heated in presence

of oxygen. (TGN ¢ ~GifN aigrs wifses Tag T Tl 31 -)

(a) Na,0,K,0 (b) NaO,, KO,

(€) Na0,KO, (d) Na,0,,K,0,

Find the isotones from the following sets— (SIZEHHR FE I -)
() CI*& CP (b) Ar®, Ca®

(c) H*& Hef (d) ,Si*& P
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28

29.

31.

33.

A, B and C are the elements ofa Dobereiner’s Triad. If atomic

‘mass of A is 7 and that of C is 39, then the atomic mass of B is —

(TOIREAIER 96 aRee A, B, C {16 ¢et g 1 3 A @7 sk
©q 7 932 C a3 2AIINds ©F 39 27, O B @7 AI-ik{s o3 3 -)
(a) 46 (b) 32

c) 23 (d) 16.

Milk of magnesia is an example of —

(e o 1R 281 @30 -)
(a) Suspension (&)

(¢) Colloid (F=TTe)

(b) Solution (¥39)
(d) Mixture. (f=q) |

Formula of Ferric sulphate is — ((F[5% SeFHI ALTS 2 -)

(a) Fe,(S0O,), (b) Fe,(S50,),
(¢) Fe, SO, (d) Fe,SO,.

GROUP —B 2x10=20

State Boyl’s law. Give graphical representatioh of this law.
| | 1+1=2
(FACER 3 RIS 39| G @RI ARG A3 7 1)

. What is mole ? Find the number of moles of water present in one

litre of water. (Density of water = 1gm/c.c.) 1+1=2
(TS IS I 2 9T 61T T O (WIe & IS0 - [l 39 | (Sera

W = 1gm/c.c.)

What amount of magnesium oxide will be obtained when 2.4 gm
of a piece of magnesium ribbon is allowed to burn in oxygen. 2

(2.4 gm GHHT 43 T3 AN [t SFHEH 7O T ST
TMAPTRIN SIHRS e A 2)
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12.

13.

14.

15.

16.

17.

Electronic configuration of Ca*? is —

(Ca™ @3 3=l Ry =& -)

(a) 2,8,8,2 (b) 2,8, 10

© 2,8,7,1 d 2,8,8.

A chemical equation is based on — (IFTRS TR 68 271-)
(@) The law of conservation of mass (S Woye! 3@)

(b) The law of multiple proportions (@S 3J)

(c) Gay-Lussac’s law of gaseous volumes (T5EPFF SPITEH 39)
(d) Law of constant proportions.(FRa«ie 34) |

CuS0O, + Mg =MgSO, + Cu, the type of reaction is —
( Riexfo == -)

(a) Addition reaction (e faf&n)

(b) Substitution reaction (&feZI# [KigFa)

() Re-arrangement reaction (s[=¥=51 Riea)

(d) Neutralisation reaction. (&M<= &) |

Valency of carbon in C,H, is — (C,H, S S« @ere! -)
@) 1 (b) 2 (©) 3 (d) 4.

Which one is not a mixture ? (70 fF= 2 77 -)
(a) Smog (TSTMN) (b) Bronze (&)
(c) Water (&%) (d) Air. (Iro%) |

Which is a chemical change ? (w5 aFTf #1féw 2)
(a) Heating of Pt-wire (Pt - ©It33 TG 19+
(b) Magnetisation of iron (FIRT FIIAY)

(¢) Combustion of wax (TN &)
(d) Sublimation of iodine. (TN TF Frelez) |
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